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Question 1: 
 

Express −7𝑥2 − 14𝑥 + 9 in the form  
𝑎(𝑥 + 𝑏)² + 𝑐. 
 

 

 

 

8∙2 Silver Outcome 1 

 

Question 2: 
 

If 𝐴 and 𝐵 are acute angles with sin𝐴 =
1

2
  

and cos𝐵 =
1

√5
  find the exact value of 

cos⁡(𝐴 + 𝐵). 
 
 
 
 
 
 
 

10∙1 Gold Outcome 3 

 

Question 3: 
 

Sketch the graph of 𝑦 = (𝑥 − 7)(𝑥 − 1)2 

showing clearly where it meets the x and 

y axes. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6∙5 Gold Outcome 3 

 

Question 4: 
 

Show that the circles  

x² + y² + 20x + 16y + 20 = 0 

and x² + y² - 28x - 4y + 4 = 0 intersect 

at one point. 
 

  
 

11∙4 Silver Outcome 2 

 

Question 5: 
 

Differentiate (2𝑥 − 3)6 with respect to x. 
 

 

 

 

 

13∙1 Bronze Outcome 1 
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Exam Questions  
Question 1: 
 

 

 

 

 

 

 

 

 

 

Question 2: 
 

 
 
 
 
 

 

Question 3: 
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